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This question paper contains 8 printed pages]

1510
B.Sc. (Part I) Examination, 2020
CHEMISTRY A
Paper 1
(Inorganic Chemistry)
Time Allowed : Three Hours
Maximum Marks : 50
This question paper contains three

sections as under :

Section-A gue ‘o’ Max. Marks-5

This section contains one compulsory question
with 10 parts, having 2 parts from each unit, short
answer in 20 words for edch part. All questions carry

equal marks.

7@ @vs 4 @ A ger & fred yeiw wen
4 2 @g 3w &d g1 F7 10 g 397§ y@F oy
w7 7 I 20 V=l 4 HYE 7 @ wwt vy F o
a7 £l
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Section-B CLEL Max. M‘"‘ks-P.E

This section contains 10 questions hﬂuing
2 questions from each unit. Answer 5 questions
(250 words each) selecting one question from each ynj

All questions carry equal marks.

¥ @S A T FwE 2 ¥T A g7 e 1o
w7 & Yo FEE § U@ gv1 H 997 T g0 5 5
FvH F IW QI FAF T¥ F I 250 VI § s
78 " T & oF T &
@us ‘®’

Section-C Max. Marks-20

This section contains 4 descriptive questions
(questions may have sub-divisions) covering all units
but not more than one question from each unit. Answer

any two questions (500 words each). All questions carry

equal marks.

T @UE 4 4 77 quigs @ (Fe 4 S9-9rT o
@ w5 &) @ @ s § @ fd w, g T TR
VA vy i e e @ oo @ 9w R
W#?!Fﬁh‘mwﬁ?5aﬂﬁ#mqghmﬁ
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Section A/gug-gz; 0%t
1. _G) What is meant by dual nature of light ?
yEE B 80 TFR X wn owwd 3 )
(ii) Why is ionisation potential of nitrogen
greater than Oxygen ? Explain.
IS H G e aitwiiom @ afs w9
T ? wugmnl
) What is the shape of TeCl, ?
TeCl, %t THlq @t T 2
__Gv) Why is the dipole moment of NF, less than
NH, ? |
NF, & faya smgol NH, & %5 & & ?
(v) . Which would have a greater polarisability
in F- and I".
Fra -8 @ fegsr yaom sfes @t ?
(vi) Define metallic bond.
yfigs ay & i e |
(vii) What happens when Li,CO, is heated ?
F1 g ¥ 99 LiyCo, # T fEm s ¥ 7
. \viii)Why is borazine called inorganic benzene ?

St w1 SRR aum #@ e €7
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19 any { 1 g
(ix) Name any {wo elements which exhib;q inert

pair effect.

ol @ T F e W oafen
Hﬂﬂutﬁhar{ﬁ%]

hr__(:-!—) Give names of two hardest Earhidea

A TR FREE @ o fafe
Section B/avuz-§
UNIT-Vgard-1

2" Write the de Broglie concept of dual nature of

electron. Accordingly derive a relation

between the wavelength and momentum of an

electron. https://www . uokonline. com 5

R S R R I S———
1 W%W@'ﬂ%ﬁﬁnmm
SO wifem

Write short notes opn -

1510

216+2%=5
(a) wvan der Waalg radius
(b) Shielding effect,
= w s feayafy fafem .
() TR a1 oy
(F) afmsm T |
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UNIT-1/g8m- AL oL ST i ® T OuCl T
. . (@) WEAV TSl B grafEEel # WS § fordram
4 . Define hybridisation. .Dlﬁcuﬁs structure of the — = R . I
T following on the basis of hybridisation - 7. Write short notes op - 2Y242%=5
101, and 101.* 142+42=5 @) Schottky’s defects
o A ffiw St T F SR fe (if) Frenkel's defects,
W F oA wifee . Frafafem W wfire fraford fefer
101, siv 101 @) v Ffe
5. Draw the molecular orbita] energy diagram of (i) W=e A =
the following molecules and calculate their bong Z g UNIT-IV/gam$-1v ]
order - 1%+1%4+2=5 f: lﬂ{_}& Explain the following pProperties of s-block g
0,, N,, CO, § g elements - 2%+ 2%%=5 5
= st @ fo onfras waw o s ® i - (@)  Tonisation energy E-
fo Ty 9w T s AT+ T <R =hifery %‘ é‘ (i) Metallic Properties. §‘,‘
0, N, CO. = = SEIE F A F e W vy B
UNIT-11/Z&rE-111 E 5 D AT g | 3
L.El" Explain reason of the following D 1%+1%492=5 = = NS ) - o)
@) AgCl is white while Agl is yellow in colour. 9. Explain why - 5x1=5
@) NaCl is an ionic compound while CuCl is _ W) IF; is formed byt pot CIF,.
a covalent, (i) PCl, is formeq put not NCI,
(iii) The solubility of the transition metal (izf) Bond length of S8—0O bond in S0, and S0,
hydroxides is greater than their iodides. is short,
ﬁqﬁ’f@ﬁ | L (iv) N,H is acidje whereas NE-H,, is basie.
CUARCl T H W ¥ wafw Agl B W W 7 NHy 18 1655 acidic ot more basio than H,0-
o] 1510,
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ww @Ay f& # O
) IF, s ¥ 9 cIF, =%
(i) PCl, @@ & AMBT NCI, 4

(i

{
{

e B

SOJES();-EIS_'OHHWWTHW

iv) N;H i & Safs NH, sim #
v) NH;, H,O ® #° ey ofws afis wma

F
UNIT-V/3&E-V

10. Write notes on

(i} Interhalogen compounds

(i1) Zeolite and ultramarine.

= w feooht fafew

12.

1510

(i) FR-EEem Aifte
(ff) STAEEE A S|

11 - Write notes on :

(i) Catenation
(ii) Fluorocarbons.
frm @ feoon fofeq
(i) FEeAHE
(if) Sl |

Section C/@TS-H
Write short notes on :
(i) Pauli’'s exclusion principle
(ti) Hund's rule
(tif) Born-Haber cycle
liv) Electron affinity.

7
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2V4+2%=5

Qv+ 2%h=5

4x2'4=10
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13.

1.

1510

" Tttps://www.uokonline.com
0 et w1 ITEsy AT

i s w Trm

(i) AR-FA TE .
(jv) TeEAA AT s Rt Bald
Write a short note on VSEPR theory and its

application. R 10
Wit w4 TeEa gm wioedn e @ e
s W v wiww AR fate)

(i) Discuss conductivity of the metals on the
basis of molecular orbital theory. 5+5=10
afras FweaF fogq & oTER W ougaAl i
Il FI PINEA] wited |

{it) Iiscuss metallic bond.
vt 71 #1 faaror <ifsa

(i) Discuss the hybridisation and structure of
XeOF,. 4+2+4=10

(éi) Explain with examples the doping in
Fullerene,

(icr) Write any two chemical properties of
diborane.

(i) XeOF, ®1 Taqu g Wi&Ed & SUFREUI

(i) FFAH M § g et ¥ 7 e e
Hicudl

(iiilgﬁﬁ%ma fre ol W fafeu

y 8 :
https://www.uokonline.com

wod auljuoyon' mma /. sdpy



